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2% (1-pnorm(z0,0,1)) 00000000000
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VRY <- 32%32*N/12-32%32/(12xN* (N-1))*(1773-17+(2"3-2) *5)
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X <- ¢(0.98,0.87,1.12,1.34,0.88,0.91,1.04,1.21,1.17,1.09)
Y <- ¢(1.03,0.78,1.04,1.52,0.97,0.84,1.32,1.12,1.09,1.32)
wilcox.test(X,Y,paired=T,exact=F)
ooooooo
4 . . . . . )
Wilcoxon signed rank test with continuity correction
data: X and Y
V = 20.5, p-value = 0.5073
alternative hypothesis: true mu is not equal to O )
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glm(Y ~ X1+X2)
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glm(Y ~ ., data=dat, family="binomial")

family DD O OD0O0OO"gaussian"OD O OO0 200000 familyODOOOOOOOOOOOOOODO
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O0000D00Oplot(residuals(res)) D0 ODO0O0OO0OO0O0OODOOsummary(res) OOO0OOOODOO
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00000 (multicolinearity)

o0o00o0o00o0oo0ooo0o0oooo0ooooooooooooooooooooooooooooDoon
O000U00o0opooo0U0Uooopooo0o0UooooooO YOoOooooooOoOo x1oxeooooooo
O00O0000U0ooooo1m(Y - X1+X2) 000000000000 0ODOOOCOCOOOO0O0O0O X1 0 X2
000000000000 OOCODOODX1I00000000000000000OO0OOX 200000000
O000000o0ooo0o00OoXx2000000o0oo0000oooo0U0ooDoooDoOoUOoDoOooOOoOg
oo obobobobobobbbbobobbbddddoDo bbb
0000000000000000000000000000000000 (multicolinearity) 0 00000
oo obobobobbbbbobbobooddddioooooDULD Db O
JoodoooooooooobobobobobbobbobboboddddddooooooooooooDoon
0000000000000 O00000 VIFO Variance Inflation Factor; 0 0 0000000000000
0000000000 VIFO 100000000000000000000000000000Armitage et
al. 200200 0000000000000O00O0O0O0O0OOUOOCOODBPOOOOOOOOSBPOOOOODO
go0oOoOoOoOOOOCOCO0OCOCOO0OC00O0OC0OU0UOU0UOUUOUUOOUOODODOODOOOoOOoOoOoog
OO00Oecentring0 000000000000 0O0OROOMASSOOOOOO Im.ridge(OUOOOO0OOOO
O0O0C0O0OO0OO0ODAAGODODODDO O Maindonald and Braun, 200300 vif () D00 O0O0OOOODOOO VIF
00o0000000o0o0oo*?o
rl:lDl N
080000000000 Odata(airquality) 0000019730 50 1000 90 30000 15640
0000000000000 000o000oo0000oo0000000o00ddozonedppb 0000
O00000MSelar. ROOOOOOODOODOO 80000 12:00000 400000 770000000000
00000000000000 Langley 0000000 Windd LaGuardia 00 00 7:00 00 10:00
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0000000000000 00000000000000LaGuardia0 0000000000000
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data(airquality)

attach(airquality)

res <- 1lm(Ozone ~ Solar.R+Wind+Temp)

VIF <- function(X) { 1/(1-summary(X)$r.squared) }
VIF(1lm(Solar.R ~ Wind+Temp))

VIF(Im(Wind ~ Solar.R+Temp))

VIF(Im(Temp ~ Solar.R+Wind))

summary (res)

detach(airquality)

N /
joooo0ooo VIFOOOO iooobDdoo0oobDooooDoooobDOooboooDooooo

summary(res) 00 0000000000000 0OO0OO0OO0OOO S%000000000000000D0

000000000000 30000000000000000 60%000000000000

Call: D
Im(formula = Ozone ~ Solar.R + Wind + Temp)
Residuals:

Min 1Q Median 3Q Max
-40.485 -14.219 -3.551 10.097 95.619
Coefficients:

Estimate Std. Error t value Pr(>|tl)
(Intercept) -64.34208 23.05472 -2.791 0.00623 *x*
Solar.R 0.05982 0.02319 2.580 0.01124 x*
Wind -3.33359 0.65441 -5.094 1.52e-06 **x
Temp 1.65209 0.25353 6.516 2.42e-09 **x
Signif. codes: 0 ‘x*x’> 0.001 ‘*%’ 0.01 ‘x> 0.05 .’ 0.1 ¢ * 1
Residual standard error: 21.18 on 107 degrees of freedom
Multiple R-Squared: 0.6059, Adjusted R-squared: 0.5948
F-statistic: 54.83 on 3 and 107 DF, p-value: < 2.2e-16
J
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000000 predict() 000000000 DOOUO0OD0O WindODOODOODOODO 9% 0000000
000000000000 000000o0000O0OU0Oo0U0Oo0OU000O00DO00D0O00000OWind O
O000O0zone0OOODOOODOUOOODOUDOOOOODOUOOODOOOUDOOOODDOOUOOOOUOO
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EW <-
ES <-
ET <-

Ozone

data(airquality)
attach(airquality)

res <- 1lm(Ozone ~ Solar.R+Wind+Temp)

seq(min(Wind) ,max(Wind) ,len=100)
rep(mean(Solar.R,na.rm=T),100)
rep(mean (Temp,na.rm=T),100)

.EWC <- predict(res,list(Wind=EW,Solar.R=ES,Temp=ET),interval="conf")
plot(0zone~Wind)

lines(EW,0zone.EWC[,1],1ty=1)

lines(EW,0zone.EWC[,2],1ty=2)

lines(EW,0zone.EWC[,3],1ty=2)

detach(airquality)
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data(airquality)

attach(airquality)

res.3 <- 1m(Ozone ~ Solar.R+Wind+Temp)
res.2 <- 1m(Ozone ~ Solar.R+Wind)

lambda <- -2*(logLik(res.2)-logLik(res.3))
1-pchisq(lambda,1)

detach(airquality)

N /
0000000000000 0 IO O0O00000D0000O0000O0000200000000000
O0000000000000000 gimOOO0000000NnlsO)O 000000000000

AIC: J000OO0O0O0ooooooooog
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AIC = -2InL+2n

O00000oAlICO00O000O0OO0OO0O0D0OoOoOoOoOooooog

O0OOROUOAICO O0ODOD0OOUDO extractAICO 000 200000000000 “Akaike’s An
Information Criterion” 0000000000 “The (generalized) Akaike *A*n *T*nformation *C*riterion
for a fitted parametric model” D D 0000000000000 O0O0O0OOOOOOextractAICO) O
MASSOOOOOOOOODODOODOO S40000000000000000000O00O0O0O0OOO0OOOO
OO0 stepO 00000000 OOOOOOOODOODODOO

000000 200000000000 AICOOOUDO0OAIC(res.3) 00000

-2%logLik(res.3)+2*attr(loglLik(res.3),"df")

0000 998.70 00 DextractAIC(res.3) 0000 681.70000res. 200000000 O0AIC(res.2)
0 1033.80 extractAIC(res.2) O 716.80 000

0000000000 300000000 AICO0D000000000000000000000000
0000000000000000000000 AICO0000 AIC) 00000000000 onoooo
D0000000000000000000000000 extractAICO OD0DO step) 00D DDOOO0O
0oooooooooo*o

*4 nttp://www.is.titech.ac.jp/~shimo/class/gakubu200409.htm10 000000000000 00OROO0O0ODOO0OO0N
0000 8UI0U0D000O00O0DO000000DO0D00O000O0D00O0ODAICODOD —2InL+200L 0000006
00000oo0o0oo0ooooo0oo0o0000000000000000000000000 n0000000 p00000 ¢c00000
00000000 n(l+In(2702))+2(p+1)0000000000000000 MextractAIC) 000000000000
DEIEIDDDDDnln(02)+2pDDDDDDDDDDDDDDDD n(l+In(27))+2000000000000000000
goooooooooOoOoO0O0OO0O0O0O0O0O0O00000000000O0OCOOOOOOOOOOOO0
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0000000000000 0000O0O0000step(lm(0zone™Wind+Solar .R+Temp)) DO OO step()
0000000000000 00D0D0D00O0O0000000ODOO0O00 (direction="forward")JO O
000 (direction="backward")J 0O 0O 0O 00O (direction="both") 0O ODUDODUOOOOOOOOOOO
direction="backward"0 00D 0000000000000 OOOOOOOOOOOOODOSstep() 00O
0000000000000 0000000000000000 stepO0000O00O0O0O0OdirectiondO
gbobooboobooboooobd

00000000 Oress <- step(Im(0zone~Solar.R+Wind+Temp)) 0000 030000000000
0000 AICOO0O0 6200 00000000000000000O00OO0 res20000000000O0O0
000 AICO step() 00D O0D0O0ODO extractAICO) 0000000000 O0ODOODO AICOODODO
O000000000000000 AIC(ress) 0000000000 000000000000O0O
01110000000O0zoned Solar ROOOOOODODO O AIC(ress)-111%(1+log(2%pi))-2 000
00000 681.712700000000O0stepO 00000000000 ODODOOOOOODOOOOODO
goboooooooboooboboboobooobooooooboobobobobooooboooDobDOobOoDboD
gboboobogobobd
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data(airquality)
attach(airquality)

res <- 1lm(0Ozone~Solar.R+Wind+Temp)
ress <- step(res)

summary (ress)

AIC(ress)

/

oobOooooooboooboooooobooooobboOoobOoobOOoOoDoOoOooOoOobooobobooDbboOoDono
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coboboooobobooobooobooooooboooboooooooooooobooooooOoooon
0000000000 Opredict) OO00O0O0OOOO0ODOO0O00OO0DOOODODOODOOOOOOOOOOOOO
O0000000000000000000res<-1m(0zone~Solar.R+Wind+Temp) D0 000000000
oooo

predict(res, list(Solar.R=mean(res$model$Solar.R),

Wind=mean(res$model$Wind) , Temp=mean(res$model$Temp))

cooboooobooooobooooooOooobo0ooboOo0ooooooooObo0oOoDboOoOooobooOoOooooDn
Ooboboooooboooooooooo

ocoooob9bo0oUobooOooOoooDOboOooobooOooooo0obDOoooooOooooDOoOooDoOoOoooon
OOb0b0O00000Selar. RO Temp U OOOOOOO0OO0O0O0OO0O0O0O0OO0O0OCOO0O0O0O0O0O0O0O0OO
0000000000000 0000000000000000O0Solar ROODOOOODOOOODOOOOO
0000000000 0Omean(Solar.R,na.rm=T) 0000000000000 Wind=25600000000
000000000-8.100000000000000000009%%00000000000000MM0
00000 AlCO00O00o0o0oOoU0oo0oo0oUo0oUoOo0oo0ooo0oUoOoUooOUOooDOo
O0000WindO OzoneOOOOOO0OOOOOO WindOOOOOOO OzoneOOOOODOOOOODO
O00000000O0000D00000 windO Selar.RO 2000000000000000CCOOO
oooood

resmr <- nls(Ozone ~ a*exp(-b*Wind) + c*Solar.R, start=1list(a=200,b=0.2,c=1))
summary (resmr)
AIC(resmr)

AICOO0O00 20000000000000DextractAICO O000O0ODOO0O0OOOOOOUOOOIOO
gboboobooboboobooboobbooboobbooboobboboboobobooobobooboo
gboooooobooobooooboboobobom@mrTemp00oobobobooboobobobobo D
gbobooboobbooboooboobbooob

SRM <- mean(subset(Solar.R,!is.na(0zone)&!is.na(Solar.R)&!is.na(Wind)&!is.na(Temp)))

predict(resmr,list(Wind=25,Solar.R=SRM))

000000 16400000000 250000000000000000000000000C0C0000
0164 pph 0000000000

googdg

O000000000000Y =00+ 01 X1+ PeXo+ 12X1Xe+ee00000000000000 X3
0000000000000 0000YOOOOoOoOooooDoooooooooooyooooo X0
0000000000000 X, 0000O0O00mMX,0YOOOOOOODO (slope)0 X, 0000000
0000000 X,0OOOOOOOOoOOYOOOOOOadjusted mean; 00000000000 X, 00
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ROOOX, 0000000 co00cCO factorO0O0O0OO0OD0OO0MMX, 0000000 XO00OOY DO
000000 YODOOOOsummary(Im(Y™C+X)) 000 D0O0XO0O00000000O0O0OCOOYOOOODO
gooooboooooobobboooooobobbbbooooobobocoooooboD 10 20bDbO000
ciubuodbobogobbooboobboobobuobbo™@oooboobDbobobUoobOoUoDOog
0000000000000000000000000000000000 (slope)000000OOODOO
gooboooboooobbooooobboooooooobboooobbooobooobooooDD
summary (Im(Y [C==1] "X [C==1]); summary(1lm(Y[C==2]"X[C==2]) 0000000000000 OOOO
00000 summary (Im(Y"C+X+C:X)) 0 000 summary(Im(Y"CxX)) 000000000000 0O0OOODO
gbooooooooboobdobobooobooooooboco xgboboboooooydoooooboboo
OO0D000OCoefficients O C2:XOUO0OOOOO0OO0OOOOO0OO0OOOOOODOOOOOOOODOOOO
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0800000000 ROODOOOODDO ToothGrowthOOOD 100000C0O00O0ODO 3000
gooo0o0o0o CcO000DU0U0o0OoO0OO0O000000O0O0O0OO0000U0DOOODOO0O0OO0OOn
O000OC0OOOOOOOOOOO0O00O000 1len00O0O0suppO0000OOOdesed 0000000 80
goobobooooogoobobooooooobooobobobobobooboobooboboboooooDo
goobobobobooooooobooo
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data(ToothGrowth)

attach(ToothGrowth)

plot(len ~ dose, pch=levels(supp))

abline(1lml <- 1lm(len[supp==’VC’] dose[supp=="VC’]))
abline(1lm2 <- 1lm(len[supp==’0J’] " dose[supp==’0J"]1),1lty=2)
summary (1m1)

summary (1m2)

J

summary (1m1) O summary(1lm2) OO0 0000000000000 0O0OOO0 000O0O0O0O0O0OOOOO

cooboocoobooooooooooOooOoOobOOo0oOobOOoOoOoboOoOoOoOoOOoOoOOOoOoOobObOOOobooOoOn
cooobooooboooo

1m3 <- 1lm(len ~ suppxdose)

summary (1m3)
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Call:

Im(formula = len ~ supp * dose)

Residuals:
Min 1Q Median 3Q Max
-8.22643 -2.84625 0.05036 2.28929 7.93857

Coefficients:

Estimate Std. Error t value Pr(>|tl)

(Intercept)  11.550 1.581  7.304 1.09e-09 **x*

suppVC -8.255 2.236 -3.691 0.000507 s*x**

dose 7.811 1.195 6.534 2.03e-08 **x
suppVC:dose 3.904 1.691  2.309 0.024631 *

Signif. codes: 0 ‘x*x’ 0.001 ‘*%’ 0.01 ‘x’ 0.05 ‘.” 0.1 “ * 1

Residual standard error: 4.083 on 56 degrees of freedom
Multiple R-Squared: 0.7296, Adjusted R-squared: 0.7151
F-statistic: 50.36 on 3 and 56 DF, p-value: 6.521e-16
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000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000
000000000000

00000000000000 PO0DOOW(P/(1—P))=by+bhX,+..0;,X,00000000X,
000000000000000X,,..X,000000000X,=00000 X;=1000000000

bl = ln(Pl/(l — Pl)) — ll’l(Po/(l — Po)) = 1I1(P1 * (1 — Po)/<P0 * (1 — Pl)))
000000,wO00000000000000000000000000000 9%%00000

exp(by £ 1.96 x SE(by))

00000000000000
00 40000 library(MASS) 00O data(birthwt) 00000000000

12



Springfield 0 Baystate 1000000 189 000000000000000000O0O0OOOOOOOO
000000000 Ostr(birthwt) OO0DO0OOOOOOO

4 N

low 0000000000000O00O0O0OOOOOO25kg000 10
age 0O

wt 0000000

race JO0O0ODOODOOOOOOOOODOODOO

smoke OOO0OODOOOOOO

ptl ooooooooon

ht ooooooooogooon

ui oooooooooooboooo

ftvy O00000OO0OO0OOOOOOOO

bwt OOO0OOO0OOO (keg)

N J
_ N
require (MASS)
data(birthwt)
attach(birthwt)
low<-factor (low)
race<-factor(race, labels=c(” white” ,” black” ,” other” ))
ptd<-factor (ptl>0); smoke<-(smoke>0); ht<-(ht>0); ui<-(ui>0)
ftv<-factor(ftv); levels(ftv)[-(1:2)]<-" 2+"
# JO000000000O0O0o0O0dwdoooo
bw<-data.frame(low,age,lwt,race,smoke,ptd,ht,ui,ftv)
detach(birthwt)
summary (res<-glm(low ~ ., family=binomial, data=bw))
# 00000000 summary(res2<-step(res)) DO DOOO )

O000000D000O00DsmokeTRUE OO OO 0.866582 00O 0O SEO 0404469 00 O OODO
0000000000000 00000000000000000 9%%0000000exp(0.866582)0
exp(0.866582 - gnorm(0.975)*0.404469) 0 exp(0.866582 + gnorm(0.975)%0.404469)00 O O
2.3787660 1.0766160 5.2558470 0 00 2.38 [1.08, 5.26] DO O 0O0OOOOOOOOOOOOOOOO
oooOO0Oo0 23800000000000000000000000O0AO0

goon

e JOOODO (1995) Joooooooooobo,00ooooooooon.

e Armitage P, Berry G, Matthews JNS (2002) Statistical Methods in Medical Research, 4th ed.,
Blackwell Publishing.

e Maindonald J, Braun J (2003) Data analysis and graphics using R, Cambridge Univ. Press.
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0030000 birthwt 0O ODOOO0O0OO0O0O0O0OO0O0O00OOO00D00OO0OO0O0OOO00O0OOO0O0ODOO
gobooobooooooon
cooboooooOoocooboOoOoOooOoOoOoOoOooOoOoOOoO0O0oOoOoOoOobOOoOoOoOOOoOoOOOOODon
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